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Ensure you have: Pencil or pen
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Guidance

1. Read each question carefully before you begin answering it.

2. Check your answers seem right.
3. Always show your workings

f
Revision for this topic
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Find the values of x and y

- 45y = 1§
by > 3L
£+ 90°
1%cm
1€cm
H

AB is a tangent to the circle.

Calculate the size of angle x.
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Given £ODF =2y —10° and £2OFD =y +22°

Find zDEF
Yij - 10 = ‘j ke
y: g
Lokl > S¢°
Shtgl = 108 26
.......... @
LDoF=72°

LIEF > F1:2
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Work out the size of angre x°

1(9L+5(,.) . QX+ bV

(11 +h0 ) +(ZZ"L10) = 340

(f}[fol() :Zé(/'
Ly > 0
1 45°
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A and B are points on the circumference of a circle, centre O.
CA is a tangent to the circle.
Angle CAB = 2x

Prove that angle AOB = 4x
Give reasons for each stage of your working.

’ i = ‘ '\Usﬂf*mej,
[aAf = §0-2x [coac =90° # 1 9
o met 4 90°)

[ OFA - 10.- 1x” [ Aoap » Isostetes M Oﬁ=0/=r)
%5 Hz wﬁ/é{) o

g+ (roe) # o= 2 1
y //’ - 4 :/{K
Y~ qux =0
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The points D, E and F are points on a circle, centre O.

Angle DEF =2x Angle DOF = 5x — 72° Angle EDO

Angle EFO is 14° smaller than angle EDO.
e

Work out the value of y

(7«26) LT b x

b1 + oL~ TE 234

qx 2 [,320
A= ug’

71 - F1 +yi’7“/4:3‘0 y=

-2

33( - 71 41y "4 = 340
u”ole 135(/
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W:x=2:3
Xy =645 4.9

Work out the size of angle z.
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AC is the diameter of a circle, centre O.
DE is the tangent to the circle.
BCD is a straight line.

Angle BAC =x

Express angle COD in terms of x.
[Afe = o” /a/nj/f, ksl ) |
CACP = 90" -2 (ugho i AAC A h1ge’)
£0c)c 90+ (7 s v s%rwd” lire )
(o) 2900 (wdvs [ bt wedl F 9°
/z’o&[qoij s 90 -~
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Prove that the angle in a semi-circle is always 90°

0f > of > 0L = rehs

s opfl = chfo 2 30 }ﬂ%j[ff N boscels f,;,,ﬁta
£ocd = LoBC >y tne 37,/‘

| e ‘/ 710 /Oc
R
' l+[:wj)*‘j 10

) 7‘—2/ > 140
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lej = {0
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10.

EF is a tangent to a circle, centre O.
4DAF =2x-30r
ZLABC = 8x

Find the size of angle ZDAF

K/}C[) > 1x - 10 /aﬁr e %fvw&# *«@m]

LADL = 18o-(z1-lo) < 190-2L _ ,—

b + (a5-a) > 140
SL+45 =140
PN {3 24°

7> 1%

YR - Jo = 24
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